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------------------Insert 

INSERT /*+ append parallel(6) */
      INTO  RDS_CLIENT_FX_MARGIN (CLIENT_PROGRAM_PKG_GRP_ID,
                                  REF_DATA_CYCLE_DAY_OF_WEEK,
                                  REFERENCE_DATA_CYCLE_DATE,
                                  CP_ORG_ID,
                                  CP_ORG_REG_OFFICE_ID,
                                  CP_ORG_BRANCH_OFFICE_ID,
                                  CP_PPG_ID,
                                  BASE_ISO_CURREANCY_CODE_3,
                                  QUOTE_ISO_CURREANCY_CODE_3,
                                  ISO_COUNTRY_CODE_2,
                                  CHANNEL_CODE,
                                  TRANSACTION_TYPE,
                                  LOW_TIER,
                                  HIGH_TIER,
                                  FX_CLIENT_MARGIN_PCT,
                                  FX_RATE_SERVER_FREQ_ID)
   SELECT CPPG.CLIENT_PROGRAM_PKG_GRP_ID,
          :B4,
          :B1,
          CPPG.CP_ORG_ID,
          CPPG.CP_ORG_REG_OFFICE_ID,
          CPPG.CP_ORG_BRANCH_OFFICE_ID,
          PPG.CP_PPG_ID,
          DECODE (PPG.MCP_FLAG,
                  1, PPG.ISO_CARD_CURRENCY_CODE,
                  RCO_1.ISO_CURRENCY_CODE),
          RCO_2.ISO_CURRENCY_CODE,
          PPG.ISO_BASE_COUNTRY_CODE,
          FCM.CHANNEL_CODE,
          FCM.TRANSACTION_TYPE,
          FCM.LOW_TIER,
          FCM.HIGH_TIER,
          FCM.FX_CLIENT_MARGIN_PCT,
          DECODE (FCM.TRANSACTION_TYPE,
                  1, CPPG.FX_RATE_SERVER_FREQ_LOAD,
                  2, CPPG.FX_RATE_SERVER_FREQ_RELOAD,
                  3, CPPG.FX_RATE_SERVER_FREQ_UNLOAD,
                  4, CPPG.FX_RATE_SERVER_FREQ_CASHOUT,
                  5, CPPG.FX_RATE_SERVER_FREQ_PURSETRANS,
                  CPPG.FX_RATE_SERVER_FREQ_LOAD)
     FROM RDS_CLIENT_PROGRAM_PKG_GRP CPPG,
          RDS_PROGRAM_PACKAGE_GROUP PPG,
          CONTRACT CON,
          CONTRACT_PPG_MAP CPM,
          FX_CLIENT_MARGIN FCM,
          RDS_COUNTRY RCU,
          RDS_CURRENCY RCO_1,
          RDS_CURRENCY RCO_2
    WHERE     CPPG.REFERENCE_DATA_CYCLE_DATE = :B1
          AND CPPG.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
          AND PPG.REFERENCE_DATA_CYCLE_DATE = :B1
          AND PPG.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
         AND RCU.REFERENCE_DATA_CYCLE_DATE = :B1
          AND RCU.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
          AND RCO_1.REFERENCE_DATA_CYCLE_DATE = :B1
          AND RCO_1.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
          AND RCO_2.REFERENCE_DATA_CYCLE_DATE = :B1
          AND RCO_2.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
          AND CPPG.PROGRAM_PACKAGE_GROUP_ID = PPG.PROGRAM_PACKAGE_GROUP_ID
          AND (   (    CON.CONTRACT_LEVEL = 1
                   AND CON.ASSOC_ORG_HIERARCHY_ID =
                          CPPG.CLIENT_ORGANISATION_ID)
               OR (    CON.CONTRACT_LEVEL = 2
                   AND CON.ASSOC_ORG_HIERARCHY_ID =
                          CPPG.CLIENT_REGIONAL_OFFICE_ID))
          AND CON.CONTRACT_ID = FCM.CONTRACT_ID
          AND CON.PRODUCT_TYPE_ID = PPG.PRODUCT_TYPE_ID
          AND RCU.ISO_COUNTRY_CODE_2 = PPG.ISO_BASE_COUNTRY_CODE
          AND RCU.CURRENCY_ID = RCO_1.CURRENCY_ID
          AND FCM.QUOTE_CURRENCY_ID = RCO_2.CURRENCY_ID
          AND CON.ACTIVE_FLAG = :B3
          AND CON.LIVE_DATE <= :B1
          AND CON.WORKFLOW_STATUS = :B2
          AND CON.EFFECTIVE_START_DATE <= :B1
          AND CON.EFFECTIVE_END_DATE > :B1
          AND FCM.ACTIVE_FLAG = :B3
          AND FCM.LIVE_DATE <= :B1
          AND FCM.WORKFLOW_STATUS = :B2
          AND FCM.EFFECTIVE_START_DATE <= :B1
          AND FCM.EFFECTIVE_END_DATE > :B1
          AND CPM.ACTIVE_FLAG = :B3
          AND CPM.LIVE_DATE <= :B1
          AND CPM.WORKFLOW_STATUS = :B2
          AND CPM.EFFECTIVE_START_DATE <= :B1
          AND CPM.EFFECTIVE_END_DATE > :B1
          AND CON.CONTRACT_ID = CPM.CONTRACT_ID
          AND CPM.PROGRAM_PKG_GRP_ID = PPG.PROGRAM_PACKAGE_GROUP_ID
          AND NOT EXISTS
                     (SELECT 1
                        FROM FX_PROMOTION_CPPM_MAP PCM,
                             RDS_CLIENT_PROGRAM_PKG_GRP CPPG_1,
                             FX_CLIENT_PROMOTION FCP,
                             FX_CLIENT_PROMOTION_DETAIL CPD
                       WHERE     CPPG_1.REFERENCE_DATA_CYCLE_DATE = :B1
                             AND CPPG_1.REF_DATA_CYCLE_DAY_OF_WEEK = :B4
                             AND PCM.CLIENT_PROGRAM_PKG_GRP_ID =
                                    CPPG_1.CLIENT_PROGRAM_PKG_GRP_ID
                             AND PCM.ACTIVE_FLAG = :B3
                             AND PCM.LIVE_DATE <= :B1
                             AND PCM.WORKFLOW_STATUS = :B2
                             AND PCM.EFFECTIVE_START_DATE <= :B1
                             AND PCM.EFFECTIVE_END_DATE > :B1
                             AND PCM.FX_CLIENT_PROMOTION_ID =
                                    FCP.FX_CLIENT_PROMOTION_ID
                             AND FCP.ACTIVE_FLAG = :B3
                             AND FCP.WORKFLOW_STATUS = :B2
                             AND FCP.EFFECTIVE_START_DATE <= :B1
                             AND FCP.EFFECTIVE_END_DATE > :B1
                             AND FCP.FX_CLIENT_PROMOTION_ID =
                                    CPD.FX_CLIENT_PROMOTION_ID
                             AND CPPG.CLIENT_PROGRAM_PKG_GRP_ID =
                                    CPPG_1.CLIENT_PROGRAM_PKG_GRP_ID
                             AND FCM.QUOTE_CURRENCY_ID =
                                    FCP.QUOTE_CURRENCY_ID
                             AND FCM.CHANNEL_CODE = CPD.CHANNEL_CODE
                             AND FCM.TRANSACTION_TYPE = CPD.TRANSACTION_TYPE
                             AND FCM.LOW_TIER = CPD.LOW_TIER
                             AND FCM.HIGH_TIER = CPD.HIGH_TIER)

-----------------Explain plan


<ExplainPlan>
  <PlanElement id="0" operation="INSERT STATEMENT" optimizer="ALL_ROWS" search_columns="0" cost="192">
    <PlanElements>
      <PlanElement id="1" operation="LOAD AS SELECT" search_columns="0" qblock_name="SEL$C772B8D1">
        <PlanElements>
          <PlanElement id="2" operation="PX COORDINATOR" search_columns="0">
            <PlanElements>
              <PlanElement object_ID="0" id="3" operation="PX SEND" option="QC (RANDOM)" object_node=":Q1014" object_owner="SYS" object_name=":TQ10014" other_tag="PARALLEL_TO_SERIAL" search_columns="0" cost="192" cardinality="30,632" bytes="11,670,792" distribution="QC (RANDOM)" cpu_cost="56,487,582" io_cost="188" time="2">
                <PlanElements>
                  <PlanElement id="4" operation="HASH JOIN" option="RIGHT ANTI BUFFERED" object_node=":Q1014" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="192" cardinality="30,632" bytes="11,670,792" cpu_cost="56,487,582" io_cost="188" access_predicates="&quot;CPPG&quot;.&quot;CLIENT_PROGRAM_PKG_GRP_ID&quot;=&quot;ITEM_1&quot; AND &quot;FCM&quot;.&quot;QUOTE_CURRENCY_ID&quot;=&quot;ITEM_2&quot; AND &quot;FCM&quot;.&quot;CHANNEL_CODE&quot;=&quot;ITEM_3&quot; AND &quot;FCM&quot;.&quot;TRANSACTION_TYPE&quot;=&quot;ITEM_4&quot; AND &quot;FCM&quot;.&quot;LOW_TIER&quot;=&quot;ITEM_5&quot; AND &quot;FCM&quot;.&quot;HIGH_TIER&quot;=&quot;ITEM_6&quot;" time="2">
                    <PlanElements>
                      <PlanElement id="5" operation="PX RECEIVE" object_node=":Q1014" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="78" cpu_cost="2,906" io_cost="2" time="1">
                        <PlanElements>
                          <PlanElement object_ID="1" id="6" operation="PX SEND" option="HASH" object_node=":Q1012" object_owner="SYS" object_name=":TQ10012" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="1" bytes="78" distribution="HASH" cpu_cost="2,906" io_cost="2" time="1">
                            <PlanElements>
                              <PlanElement id="7" operation="VIEW" object_node=":Q1012" object_name="VW_SQ_1" object_type="VIEW" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="78" cpu_cost="2,906" io_cost="2" qblock_name="SEL$683B0107" time="1">
                                <PlanElements>
                                  <PlanElement id="8" operation="NESTED LOOPS" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="231" cpu_cost="2,906" io_cost="2" qblock_name="SEL$683B0107" time="1">
                                    <PlanElements>
                                      <PlanElement id="9" operation="NESTED LOOPS" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="231" cpu_cost="2,906" io_cost="2" time="1">
                                        <PlanElements>
                                          <PlanElement id="10" operation="NESTED LOOPS" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="214" cpu_cost="74" io_cost="2" time="1">
                                            <PlanElements>
                                              <PlanElement id="11" operation="NESTED LOOPS" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="135" cpu_cost="37" io_cost="2" time="1">
                                                <PlanElements>
                                                  <PlanElement id="12" operation="PX BLOCK" option="ITERATOR" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0">
                                                    <PlanElements>
                                                      <PlanElement object_ID="2" id="13" operation="TABLE ACCESS" option="FULL" object_node=":Q1012" object_owner="REF_OWNER" object_name="FX_CLIENT_PROMOTION_DETAIL" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1" bytes="65" cpu_cost="0" io_cost="2" qblock_name="SEL$683B0107" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" time="1"/>
                                                    </PlanElements>
                                                  </PlanElement>
                                                  <PlanElement object_ID="3" id="14" operation="TABLE ACCESS" option="BY INDEX ROWID" object_node=":Q1012" object_owner="REF_OWNER" object_name="FX_CLIENT_PROMOTION" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="0" cardinality="1" bytes="70" cpu_cost="37" io_cost="0" qblock_name="SEL$683B0107" filter_predicates="(&quot;FCP&quot;.&quot;ACTIVE_FLAG&quot;=:B3 AND &quot;FCP&quot;.&quot;WORKFLOW_STATUS&quot;=:B2 AND &quot;FCP&quot;.&quot;EFFECTIVE_START_DATE&quot;&lt;=:B1 AND &quot;FCP&quot;.&quot;EFFECTIVE_END_DATE&quot;&gt;:B1)">
                                                    <PlanElements>
                                                      <PlanElement object_ID="4" id="15" operation="INDEX" option="RANGE SCAN" object_node=":Q1012" object_owner="REF_OWNER" object_name="FCP_PK" object_type="INDEX (UNIQUE)" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="1" cost="0" cardinality="1" cpu_cost="37" io_cost="0" qblock_name="SEL$683B0107" access_predicates="&quot;FCP&quot;.&quot;FX_CLIENT_PROMOTION_ID&quot;=&quot;CPD&quot;.&quot;FX_CLIENT_PROMOTION_ID&quot;"/>
                                                    </PlanElements>
                                                  </PlanElement>
                                                </PlanElements>
                                              </PlanElement>
                                              <PlanElement object_ID="5" id="16" operation="TABLE ACCESS" option="BY INDEX ROWID" object_node=":Q1012" object_owner="REF_OWNER" object_name="FX_PROMOTION_CPPM_MAP" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="0" cardinality="1" bytes="79" cpu_cost="37" io_cost="0" qblock_name="SEL$683B0107" filter_predicates="(&quot;PCM&quot;.&quot;ACTIVE_FLAG&quot;=:B3 AND &quot;PCM&quot;.&quot;WORKFLOW_STATUS&quot;=:B2 AND &quot;PCM&quot;.&quot;LIVE_DATE&quot;&lt;=:B1 AND &quot;PCM&quot;.&quot;EFFECTIVE_START_DATE&quot;&lt;=:B1 AND &quot;PCM&quot;.&quot;EFFECTIVE_END_DATE&quot;&gt;:B1)">
                                                <PlanElements>
                                                  <PlanElement object_ID="6" id="17" operation="INDEX" option="RANGE SCAN" object_node=":Q1012" object_owner="REF_OWNER" object_name="FPC_UK_PRO_CLI_GRP_ID" object_type="INDEX (UNIQUE)" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="1" cost="0" cardinality="1" cpu_cost="37" io_cost="0" qblock_name="SEL$683B0107" access_predicates="&quot;PCM&quot;.&quot;FX_CLIENT_PROMOTION_ID&quot;=&quot;FCP&quot;.&quot;FX_CLIENT_PROMOTION_ID&quot;"/>
                                                </PlanElements>
                                              </PlanElement>
                                            </PlanElements>
                                          </PlanElement>
                                          <PlanElement id="18" operation="PARTITION LIST" option="SINGLE" object_node=":Q1012" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="0" cardinality="1" partition_id="18" partition_start="KEY" partition_stop="KEY" cpu_cost="2,832" io_cost="0">
                                            <PlanElements>
                                              <PlanElement object_ID="7" id="19" operation="INDEX" option="RANGE SCAN" object_node=":Q1012" object_owner="RDD_OWNER" object_name="I_CPP_IDX_1" object_type="INDEX" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="2" cost="0" cardinality="1" partition_id="18" partition_start="KEY" partition_stop="KEY" cpu_cost="2,832" io_cost="0" qblock_name="SEL$683B0107" access_predicates="&quot;CPPG_1&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1 AND &quot;PCM&quot;.&quot;CLIENT_PROGRAM_PKG_GRP_ID&quot;=&quot;CPPG_1&quot;.&quot;CLIENT_PROGRAM_PKG_GRP_ID&quot;"/>
                                            </PlanElements>
                                          </PlanElement>
                                        </PlanElements>
                                      </PlanElement>
                                      <PlanElement object_ID="8" id="20" operation="TABLE ACCESS" option="BY LOCAL INDEX ROWID" object_node=":Q1012" object_owner="RDD_OWNER" object_name="RDS_CLIENT_PROGRAM_PKG_GRP" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="0" cardinality="1" bytes="17" partition_id="18" partition_start="1" partition_stop="1" cpu_cost="2,832" io_cost="0" qblock_name="SEL$683B0107"/>
                                    </PlanElements>
                                  </PlanElement>
                                </PlanElements>
                              </PlanElement>
                            </PlanElements>
                          </PlanElement>
                        </PlanElements>
                      </PlanElement>
                      <PlanElement id="21" operation="PX RECEIVE" object_node=":Q1014" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="190" cardinality="30,632" bytes="9,281,496" cpu_cost="55,373,926" io_cost="186" time="2">
                        <PlanElements>
                          <PlanElement object_ID="9" id="22" operation="PX SEND" option="HASH" object_node=":Q1013" object_owner="SYS" object_name=":TQ10013" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="190" cardinality="30,632" bytes="9,281,496" distribution="HASH" cpu_cost="55,373,926" io_cost="186" time="2">
                            <PlanElements>
                              <PlanElement id="23" operation="HASH JOIN" object_node=":Q1013" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="190" cardinality="30,632" bytes="9,281,496" cpu_cost="55,373,926" io_cost="186" access_predicates="&quot;FCM&quot;.&quot;QUOTE_CURRENCY_ID&quot;=&quot;RCO_2&quot;.&quot;CURRENCY_ID&quot;" time="2">
                                <PlanElements>
                                  <PlanElement id="24" operation="PX RECEIVE" object_node=":Q1013" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="183" bytes="3,660" cpu_cost="9,494" io_cost="2" time="1">
                                    <PlanElements>
                                      <PlanElement object_ID="10" id="25" operation="PX SEND" option="BROADCAST" object_node=":Q1010" object_owner="SYS" object_name=":TQ10010" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="183" bytes="3,660" distribution="BROADCAST" cpu_cost="9,494" io_cost="2" time="1">
                                        <PlanElements>
                                          <PlanElement id="26" operation="PX BLOCK" option="ITERATOR" object_node=":Q1010" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="2" cardinality="183" bytes="3,660" partition_id="26" partition_start="KEY" partition_stop="KEY" cpu_cost="9,494" io_cost="2" time="1">
                                            <PlanElements>
                                              <PlanElement object_ID="11" id="27" operation="TABLE ACCESS" option="FULL" object_node=":Q1010" object_owner="RDD_OWNER" object_name="RDS_CURRENCY" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="183" bytes="3,660" partition_id="26" partition_start="KEY" partition_stop="KEY" cpu_cost="9,494" io_cost="2" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="&quot;RCO_2&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1" time="1"/>
                                            </PlanElements>
                                          </PlanElement>
                                        </PlanElements>
                                      </PlanElement>
                                    </PlanElements>
                                  </PlanElement>
                                  <PlanElement id="28" operation="HASH JOIN" object_node=":Q1013" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="187" cardinality="30,632" bytes="8,668,856" cpu_cost="54,249,182" io_cost="184" access_predicates="&quot;CON&quot;.&quot;CONTRACT_ID&quot;=&quot;FCM&quot;.&quot;CONTRACT_ID&quot;" time="2">
                                    <PlanElements>
                                      <PlanElement id="29" operation="PX RECEIVE" object_node=":Q1013" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="16" cardinality="738" bytes="166,788" cpu_cost="8,635,881" io_cost="15" time="1">
                                        <PlanElements>
                                          <PlanElement object_ID="12" id="30" operation="PX SEND" option="BROADCAST" object_node=":Q1011" object_owner="SYS" object_name=":TQ10011" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="16" cardinality="738" bytes="166,788" distribution="BROADCAST" cpu_cost="8,635,881" io_cost="15" time="1">
                                            <PlanElements>
                                              <PlanElement id="31" operation="HASH JOIN" object_node=":Q1011" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="16" cardinality="738" bytes="166,788" cpu_cost="8,635,881" io_cost="15" access_predicates="&quot;CPPG&quot;.&quot;PROGRAM_PACKAGE_GROUP_ID&quot;=&quot;PPG&quot;.&quot;PROGRAM_PACKAGE_GROUP_ID&quot;" filter_predicates="((&quot;CON&quot;.&quot;CONTRACT_LEVEL&quot;=1 AND &quot;CON&quot;.&quot;ASSOC_ORG_HIERARCHY_ID&quot;=&quot;CPPG&quot;.&quot;CLIENT_ORGANISATION_ID&quot;) OR (&quot;CON&quot;.&quot;CONTRACT_LEVEL&quot;=2 AND &quot;CON&quot;.&quot;ASSOC_ORG_HIERARCHY_ID&quot;=&quot;CPPG&quot;.&quot;CLIENT_REGIONAL_OFFICE_ID&quot;))" time="1">
                                                <PlanElements>
                                                  <PlanElement id="32" operation="PX RECEIVE" object_node=":Q1011" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="12" cardinality="805" bytes="129,605" cpu_cost="3,801,826" io_cost="11" time="1">
                                                    <PlanElements>
                                                      <PlanElement object_ID="13" id="33" operation="PX SEND" option="HASH" object_node=":Q1009" object_owner="SYS" object_name=":TQ10009" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="12" cardinality="805" bytes="129,605" distribution="HASH" cpu_cost="3,801,826" io_cost="11" time="1">
                                                        <PlanElements>
                                                          <PlanElement id="34" operation="HASH JOIN" option="BUFFERED" object_node=":Q1009" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="12" cardinality="805" bytes="129,605" cpu_cost="3,801,826" io_cost="11" access_predicates="&quot;CON&quot;.&quot;PRODUCT_TYPE_ID&quot;=&quot;PPG&quot;.&quot;PRODUCT_TYPE_ID&quot; AND &quot;CON&quot;.&quot;CONTRACT_ID&quot;=&quot;CPM&quot;.&quot;CONTRACT_ID&quot;" time="1">
                                                            <PlanElements>
                                                              <PlanElement id="35" operation="PX RECEIVE" object_node=":Q1009" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1,118" bytes="51,428" cpu_cost="364,675" io_cost="2" time="1">
                                                                <PlanElements>
                                                                  <PlanElement object_ID="14" id="36" operation="PX SEND" option="HASH" object_node=":Q1007" object_owner="SYS" object_name=":TQ10007" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="1,118" bytes="51,428" distribution="HASH" cpu_cost="364,675" io_cost="2" time="1">
                                                                    <PlanElements>
                                                                      <PlanElement id="37" operation="PX BLOCK" option="ITERATOR" object_node=":Q1007" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="2" cardinality="1,118" bytes="51,428" cpu_cost="364,675" io_cost="2" time="1">
                                                                        <PlanElements>
                                                                          <PlanElement object_ID="15" id="38" operation="TABLE ACCESS" option="FULL" object_node=":Q1007" object_owner="REF_OWNER" object_name="CONTRACT" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="1,118" bytes="51,428" cpu_cost="364,675" io_cost="2" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="(&quot;CON&quot;.&quot;EFFECTIVE_END_DATE&quot;&gt;:B1 AND &quot;CON&quot;.&quot;WORKFLOW_STATUS&quot;=:B2 AND &quot;CON&quot;.&quot;LIVE_DATE&quot;&lt;=:B1 AND &quot;CON&quot;.&quot;ACTIVE_FLAG&quot;=:B3 AND &quot;CON&quot;.&quot;EFFECTIVE_START_DATE&quot;&lt;=:B1)" time="1"/>
                                                                        </PlanElements>
                                                                      </PlanElement>
                                                                    </PlanElements>
                                                                  </PlanElement>
                                                                </PlanElements>
                                                              </PlanElement>
                                                              <PlanElement id="39" operation="PX RECEIVE" object_node=":Q1009" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="10" cardinality="1,422" bytes="163,530" cpu_cost="2,785,401" io_cost="9" time="1">
                                                                <PlanElements>
                                                                  <PlanElement object_ID="16" id="40" operation="PX SEND" option="HASH" object_node=":Q1008" object_owner="SYS" object_name=":TQ10008" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="10" cardinality="1,422" bytes="163,530" distribution="HASH" cpu_cost="2,785,401" io_cost="9" time="1">
                                                                    <PlanElements>
                                                                      <PlanElement id="41" operation="HASH JOIN" option="BUFFERED" object_node=":Q1008" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="10" cardinality="1,422" bytes="163,530" cpu_cost="2,785,401" io_cost="9" access_predicates="&quot;CPM&quot;.&quot;PROGRAM_PKG_GRP_ID&quot;=&quot;PPG&quot;.&quot;PROGRAM_PACKAGE_GROUP_ID&quot;" time="1">
                                                                        <PlanElements>
                                                                          <PlanElement id="42" operation="PX RECEIVE" object_node=":Q1008" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="6" cardinality="514" bytes="39,578" cpu_cost="1,309,318" io_cost="6" time="1">
                                                                            <PlanElements>
                                                                              <PlanElement object_ID="17" id="43" operation="PX SEND" option="HASH" object_node=":Q1005" object_owner="SYS" object_name=":TQ10005" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="6" cardinality="514" bytes="39,578" distribution="HASH" cpu_cost="1,309,318" io_cost="6" time="1">
                                                                                <PlanElements>
                                                                                  <PlanElement id="44" operation="HASH JOIN" option="BUFFERED" object_node=":Q1005" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="6" cardinality="514" bytes="39,578" cpu_cost="1,309,318" io_cost="6" access_predicates="&quot;RCU&quot;.&quot;ISO_COUNTRY_CODE_2&quot;=&quot;PPG&quot;.&quot;ISO_BASE_COUNTRY_CODE&quot;" time="1">
                                                                                    <PlanElements>
                                                                                      <PlanElement id="45" operation="PX RECEIVE" object_node=":Q1005" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="4" cardinality="250" bytes="9,750" cpu_cost="637,731" io_cost="4" time="1">
                                                                                        <PlanElements>
                                                                                          <PlanElement object_ID="18" id="46" operation="PX SEND" option="HASH" object_node=":Q1003" object_owner="SYS" object_name=":TQ10003" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="4" cardinality="250" bytes="9,750" distribution="HASH" cpu_cost="637,731" io_cost="4" time="1">
                                                                                            <PlanElements>
                                                                                              <PlanElement id="47" operation="HASH JOIN" option="BUFFERED" object_node=":Q1003" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="4" cardinality="250" bytes="9,750" cpu_cost="637,731" io_cost="4" access_predicates="&quot;RCU&quot;.&quot;CURRENCY_ID&quot;=&quot;RCO_1&quot;.&quot;CURRENCY_ID&quot;" time="1">
                                                                                                <PlanElements>
                                                                                                  <PlanElement id="48" operation="PX RECEIVE" object_node=":Q1003" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="250" bytes="4,750" cpu_cost="17,597" io_cost="2" time="1">
                                                                                                    <PlanElements>
                                                                                                      <PlanElement object_ID="19" id="49" operation="PX SEND" option="HASH" object_node=":Q1001" object_owner="SYS" object_name=":TQ10001" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="250" bytes="4,750" distribution="HASH" cpu_cost="17,597" io_cost="2" time="1">
                                                                                                        <PlanElements>
                                                                                                          <PlanElement id="50" operation="PX BLOCK" option="ITERATOR" object_node=":Q1001" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="2" cardinality="250" bytes="4,750" partition_id="50" partition_start="KEY" partition_stop="KEY" cpu_cost="17,597" io_cost="2" time="1">
                                                                                                            <PlanElements>
                                                                                                              <PlanElement object_ID="20" id="51" operation="TABLE ACCESS" option="FULL" object_node=":Q1001" object_owner="RDD_OWNER" object_name="RDS_COUNTRY" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="250" bytes="4,750" partition_id="50" partition_start="KEY" partition_stop="KEY" cpu_cost="17,597" io_cost="2" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="&quot;RCU&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1" time="1"/>
                                                                                                            </PlanElements>
                                                                                                          </PlanElement>
                                                                                                        </PlanElements>
                                                                                                      </PlanElement>
                                                                                                    </PlanElements>
                                                                                                  </PlanElement>
                                                                                                  <PlanElement id="52" operation="PX RECEIVE" object_node=":Q1003" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="183" bytes="3,660" cpu_cost="9,494" io_cost="2" time="1">
                                                                                                    <PlanElements>
                                                                                                      <PlanElement object_ID="21" id="53" operation="PX SEND" option="HASH" object_node=":Q1002" object_owner="SYS" object_name=":TQ10002" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="183" bytes="3,660" distribution="HASH" cpu_cost="9,494" io_cost="2" time="1">
                                                                                                        <PlanElements>
                                                                                                          <PlanElement id="54" operation="PX BLOCK" option="ITERATOR" object_node=":Q1002" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="2" cardinality="183" bytes="3,660" partition_id="54" partition_start="KEY" partition_stop="KEY" cpu_cost="9,494" io_cost="2" time="1">
                                                                                                            <PlanElements>
                                                                                                              <PlanElement object_ID="11" id="55" operation="TABLE ACCESS" option="FULL" object_node=":Q1002" object_owner="RDD_OWNER" object_name="RDS_CURRENCY" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="183" bytes="3,660" partition_id="54" partition_start="KEY" partition_stop="KEY" cpu_cost="9,494" io_cost="2" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="&quot;RCO_1&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1" time="1"/>
                                                                                                            </PlanElements>
                                                                                                          </PlanElement>
                                                                                                        </PlanElements>
                                                                                                      </PlanElement>
                                                                                                    </PlanElements>
                                                                                                  </PlanElement>
                                                                                                </PlanElements>
                                                                                              </PlanElement>
                                                                                            </PlanElements>
                                                                                          </PlanElement>
                                                                                        </PlanElements>
                                                                                      </PlanElement>
                                                                                      <PlanElement id="56" operation="PX RECEIVE" object_node=":Q1005" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="514" bytes="19,532" cpu_cost="56,686" io_cost="2" time="1">
                                                                                        <PlanElements>
                                                                                          <PlanElement object_ID="22" id="57" operation="PX SEND" option="HASH" object_node=":Q1004" object_owner="SYS" object_name=":TQ10004" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="2" cardinality="514" bytes="19,532" distribution="HASH" cpu_cost="56,686" io_cost="2" time="1">
                                                                                            <PlanElements>
                                                                                              <PlanElement id="58" operation="PX BLOCK" option="ITERATOR" object_node=":Q1004" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="2" cardinality="514" bytes="19,532" partition_id="58" partition_start="KEY" partition_stop="KEY" cpu_cost="56,686" io_cost="2" time="1">
                                                                                                <PlanElements>
                                                                                                  <PlanElement object_ID="23" id="59" operation="TABLE ACCESS" option="FULL" object_node=":Q1004" object_owner="RDD_OWNER" object_name="RDS_PROGRAM_PACKAGE_GROUP" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="2" cardinality="514" bytes="19,532" partition_id="58" partition_start="KEY" partition_stop="KEY" cpu_cost="56,686" io_cost="2" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="&quot;PPG&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1" time="1"/>
                                                                                                </PlanElements>
                                                                                              </PlanElement>
                                                                                            </PlanElements>
                                                                                          </PlanElement>
                                                                                        </PlanElements>
                                                                                      </PlanElement>
                                                                                    </PlanElements>
                                                                                  </PlanElement>
                                                                                </PlanElements>
                                                                              </PlanElement>
                                                                            </PlanElements>
                                                                          </PlanElement>
                                                                          <PlanElement id="60" operation="PX RECEIVE" object_node=":Q1008" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="3" cardinality="1,954" bytes="74,252" cpu_cost="830,584" io_cost="3" time="1">
                                                                            <PlanElements>
                                                                              <PlanElement object_ID="24" id="61" operation="PX SEND" option="HASH" object_node=":Q1006" object_owner="SYS" object_name=":TQ10006" other_tag="PARALLEL_TO_PARALLEL" search_columns="0" cost="3" cardinality="1,954" bytes="74,252" distribution="HASH" cpu_cost="830,584" io_cost="3" time="1">
                                                                                <PlanElements>
                                                                                  <PlanElement id="62" operation="PX BLOCK" option="ITERATOR" object_node=":Q1006" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="3" cardinality="1,954" bytes="74,252" cpu_cost="830,584" io_cost="3" time="1">
                                                                                    <PlanElements>
                                                                                      <PlanElement object_ID="25" id="63" operation="TABLE ACCESS" option="FULL" object_node=":Q1006" object_owner="REF_OWNER" object_name="CONTRACT_PPG_MAP" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="3" cardinality="1,954" bytes="74,252" cpu_cost="830,584" io_cost="3" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="(&quot;CPM&quot;.&quot;EFFECTIVE_END_DATE&quot;&gt;:B1 AND &quot;CPM&quot;.&quot;WORKFLOW_STATUS&quot;=:B2 AND &quot;CPM&quot;.&quot;ACTIVE_FLAG&quot;=:B3 AND &quot;CPM&quot;.&quot;LIVE_DATE&quot;&lt;=:B1 AND &quot;CPM&quot;.&quot;EFFECTIVE_START_DATE&quot;&lt;=:B1)" time="1"/>
                                                                                    </PlanElements>
                                                                                  </PlanElement>
                                                                                </PlanElements>
                                                                              </PlanElement>
                                                                            </PlanElements>
                                                                          </PlanElement>
                                                                        </PlanElements>
                                                                      </PlanElement>
                                                                    </PlanElements>
                                                                  </PlanElement>
                                                                </PlanElements>
                                                              </PlanElement>
                                                            </PlanElements>
                                                          </PlanElement>
                                                        </PlanElements>
                                                      </PlanElement>
                                                    </PlanElements>
                                                  </PlanElement>
                                                  <PlanElement id="64" operation="BUFFER" option="SORT" object_node=":Q1011" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0">
                                                    <PlanElements>
                                                      <PlanElement id="65" operation="PX RECEIVE" object_node=":Q1011" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="4" cardinality="235,050" bytes="15,278,250" cpu_cost="26,620" io_cost="4" time="1">
                                                        <PlanElements>
                                                          <PlanElement object_ID="26" id="66" operation="PX SEND" option="HASH" object_owner="SYS" object_name=":TQ10000" other_tag="PARALLEL_FROM_SERIAL" search_columns="0" cost="4" cardinality="235,050" bytes="15,278,250" distribution="HASH" cpu_cost="26,620" io_cost="4" time="1">
                                                            <PlanElements>
                                                              <PlanElement id="67" operation="PARTITION LIST" option="SINGLE" search_columns="0" cost="4" cardinality="235,050" bytes="15,278,250" partition_id="67" partition_start="KEY" partition_stop="KEY" cpu_cost="26,620" io_cost="4" time="1">
                                                                <PlanElements>
                                                                  <PlanElement object_ID="8" id="68" operation="TABLE ACCESS" option="BY LOCAL INDEX ROWID" object_owner="RDD_OWNER" object_name="RDS_CLIENT_PROGRAM_PKG_GRP" object_type="TABLE" search_columns="0" cost="4" cardinality="235,050" bytes="15,278,250" partition_id="67" partition_start="KEY" partition_stop="KEY" cpu_cost="26,620" io_cost="4" qblock_name="SEL$C772B8D1" time="1">
                                                                    <PlanElements>
                                                                      <PlanElement object_ID="7" id="69" operation="INDEX" option="RANGE SCAN" object_owner="RDD_OWNER" object_name="I_CPP_IDX_1" object_type="INDEX" search_columns="1" cost="3" cardinality="1" partition_id="67" partition_start="KEY" partition_stop="KEY" cpu_cost="21,564" io_cost="3" qblock_name="SEL$C772B8D1" access_predicates="&quot;CPPG&quot;.&quot;REFERENCE_DATA_CYCLE_DATE&quot;=:B1" time="1"/>
                                                                    </PlanElements>
                                                                  </PlanElement>
                                                                </PlanElements>
                                                              </PlanElement>
                                                            </PlanElements>
                                                          </PlanElement>
                                                        </PlanElements>
                                                      </PlanElement>
                                                    </PlanElements>
                                                  </PlanElement>
                                                </PlanElements>
                                              </PlanElement>
                                            </PlanElements>
                                          </PlanElement>
                                        </PlanElements>
                                      </PlanElement>
                                      <PlanElement id="70" operation="PX BLOCK" option="ITERATOR" object_node=":Q1013" other_tag="PARALLEL_COMBINED_WITH_CHILD" search_columns="0" cost="171" cardinality="46,810" bytes="2,668,170" cpu_cost="44,214,651" io_cost="169" time="1">
                                        <PlanElements>
                                          <PlanElement object_ID="27" id="71" operation="TABLE ACCESS" option="FULL" object_node=":Q1013" object_owner="REF_OWNER" object_name="FX_CLIENT_MARGIN" object_type="TABLE" other_tag="PARALLEL_COMBINED_WITH_PARENT" search_columns="0" cost="171" cardinality="46,810" bytes="2,668,170" cpu_cost="44,214,651" io_cost="169" qblock_name="SEL$C772B8D1" access_predicates=":Z&gt;=:Z AND :Z&lt;=:Z" filter_predicates="(&quot;FCM&quot;.&quot;EFFECTIVE_END_DATE&quot;&gt;:B1 AND &quot;FCM&quot;.&quot;WORKFLOW_STATUS&quot;=:B2 AND &quot;FCM&quot;.&quot;ACTIVE_FLAG&quot;=:B3 AND &quot;FCM&quot;.&quot;LIVE_DATE&quot;&lt;=:B1 AND &quot;FCM&quot;.&quot;EFFECTIVE_START_DATE&quot;&lt;=:B1)" time="1"/>
                                        </PlanElements>
                                      </PlanElement>
                                    </PlanElements>
                                  </PlanElement>
                                </PlanElements>
                              </PlanElement>
                            </PlanElements>
                          </PlanElement>
                        </PlanElements>
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            </PlanElements>
          </PlanElement>
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